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IMPROVEPD TABLES
INFORMATION

HORIZONTAL STADIA CORRECTIONS

21°—00’ 12.3 33°—00’
21°—30’ 13.4 33°—15'
22°—00’ 14.0 33°—30’
22°—30’ 14.7 33°—45
23°—00° 15.3 34°—00
23°—30’ 15.9 34°—15’
24°—00’ 16.5 34°—30°
24°—30’ 17.2 34°—45"
25°—00° 17.9 35°—00’
25°—30’ 18.6 35°—15'
26°—00 19.2 35°—30’
26°—30’ 19.9 35°—45'
27°—00° 20.6 36°—00
27°—30’ 21.3 36°—15’
28°—00° 22.0 36°—30’
28°—30’ 22.8 36°—45
29°—00’ 23.5 37°—00
29°—30’ 24.3 37°—15
30°—00’ 25.0 37°—30’
30°—15 25.4 37°—45'
30°—30’ 25.8 38°—00’
30°—45’ 26.2 38°—15
31°—00’ 26.5 38°—30’
31°—15 26.9 38°—45
31°—30’ 21.3 39°—00
31°—45’ 27.7 39°—15'
32°—00’ 28.1 39°—30’
32°—15' 28.5
32°—30 28.9
32°—45' 29.3
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Chains to Feet to Chains

100 ... 1.515
200 ... 3.030
300 ... 4.545
400 ... 6.060
500 ... 7.675
600 ... 9.090
700 .... 10.606
800 ... 12.121
900 .... 13.636
1,000 ... 15.151




DIRECTIONS FOR USE OF TABLES

TABLE No. I.

Distance of slope stake from side or shoulder
stake for any width roadway, slope 115 to I.
If ground is nearly level, the cut or fill at side
stake is located by the double entry method in
left column and top row. "The number in body
of table in same row and column gives distance
from side stake to slope stake. If ground is not
level estimate the difference in elevation between
the side stake and slope stake, lower target by this
amount if cut, elevate if fill. Add this amount
to cut or fill and find distance in table. Set up
rod at this point, and line of sight should cut
target. If it does not make the slight adjustment
necessary.

TABLE No. 9.

To find Tangent and External for curve of
any other degree, divide by degree of curve and
add correction found in column of corrections.

Degree of curve with a given I may be found
by dividing tangent, (or external), opposite | by
given tangent, (or external).

The distance from a point on the tangent to
the curve is very nearly the square of the tangent
lenth divided by twice the radius.

TasrLe 11
TRIGONOMETRIC FORMULZ,

ZA = /MOP /B = /PON = /OPL
R=0B=c=1

=a=OOSB=LP

0Q 0Q - %
-mA=———OM = =0Q =-cs¢ B=0Q
oT oT
“AHW--_I—::OT_MB—OT
M
mA=—6§-=LM=coversB#
BT —LE . 1P —venB
opP
exsec A = PQ = coexsec B

goexsec A = PT — exsec B

[1— 1 =
uxA=\j—_—1 g"“A cos%A=\/_____+C2°“

gin 2A = 2sin A cos A cos 2 A == cos® A —sin? A
o sin A sin B e gin C!
Law of Lines =T et
Law of Cogines ¢? = a’+b*—2abcosC
a+b tan 14 (A+B)
e = T A —B)







